
RACE 3 / PROJECT TILTING 3 PORTABICI / BIKE CARRIER / PORTABICICLETAS / FAHRRADTRÄGER / 自行车架

25 27 26 31

15

14

20

16

20

30

10

19

19

21

78
5

3

8

6

6 4

4

6

6

6

88

7

21

24

24

32

10

10

1010

10

10

17

17

12

12

28

28

29

29

23

13

18

22

3

5

6

5

3

10

105

8

1

2

1

1

2

6

N CODE

1

2

3

4

5

6

7

8

9

4

4

8

2

4

12

4

2

4

4

4

8

2

4

12

4

2

4

14

1

2

1

14

1

1 1

1 1

1 1

1 1

2

2 2

2 2

10

11

12

13

14

15

16

18

19

17

700004200000

700002800000

M5

M6X95

M8X50

700002900000

700003300000

700003200000

700003500000

700003800000

700003400000

700003100000

700003000000

N CODE

22

21

20 700003800000

700003900000

700004000000

26

25 700001100000

700011500000

27 700004300000

28

29

30

31

32

700004500000

700004600000

700001900000

700004700000

700003700000

24

23 700004100000

700003600000

M8

M6X18

M5

M6

M8

M6X14

6X50

6X60

M6X16

M16X70

Q Q
RACE 3 PROJECT 

TILTING 3

Q Q
RACE 3 PROJECT 

TILTING 3

2

1

1

3

2

1

1

1

1

1

1

2 2

2 2

2 2

1 1

2 2

1

1

3


